HBALBABBE B 113 25 EF - 2848

— M 1145E2A108 (EH—) EF 10830 »

=B BERNEEE
CER RS

it

W~ EEk Bl E
A HHEAR o REE

A 11 A ~BEIA ~FERETA
N ERBRE

SRBHARBEREZE G HHIISEFER 2EMNERATER » e Y

PEERERAEELLBERNTRITH R FELEMBIREREER -

£ EHEMRSE
FEARFSHRFEATH R

A~ EI G

[%‘fé"] 113 ’—%—iﬂz—gﬁzr_&é‘iﬁﬂ *"?ﬁz%—lﬁ,;i_‘; :@0

(3 #) F5mma— -
[ K] Ridsd -

(£ =) 1132 £EF 2LHHGAE
[ @A) FLMmtE=-
[7‘}3\' ﬂﬁ] 7\§ﬁ3é1@ °

[Z£d =) 13 2FEF —_LHERRNE
(5 9] £ M= -
[:£2 %) miEiB

S

L~ BR BT B iR

T

2 RERETA

/%éﬁ 5 _\-i_x. _\.ﬁ 8

AEXBMRAELERNE  FHitdm o

—RRERRZE®

EER AL



[r—]) 113 ZFEEE 2 247 2k 1T H

$/4b%%rl§1«%@d\113 FLEEFL22MATER

#HFk| 8 = A5 EREEITFE
2/11 BAEE & L3 AEREA
- O | 10| 11 | 12 | 13] 14 | 15 |2/13 %45 ~ #3534 2/12 X 215
2/13 1K 2131 B3 B 46 { Hhe=)
B : _ 2/1T 328 ~ WA M4 L3 2/21 #REER
= 171187119 (20 2 2 . .
16 012112 2/19 - B 7E & i 45 2/20 AT BRI 45
= | 23|24 25|26|27] 28 | 3/1 |2/28 »fu%- . f B AR — R 2/24-27 & |\ I
5 ~ 3/6 g./x ft’»'f%l,ﬁ (}«\%ﬁé‘
] 2 g 4 5161 7 8 ' .
) d 3/4 8 BB A (2R)
g7 9 10 11 | 12 |13 14 | 15 [3/11 532 A B 25 ( %) 3/15 3 EANER
< 16 |17 118 | 19 [20] 21 | 22 |3/19 Mz B¢l s E
et , Al no | A 13725 ~ 26 & E k4T
- 23 124125126127 28 | 2¢ /205 F & 4 3
> 0 9 397 Bki 5 A £ 43 /20 EFRIEFHE
A\ 30 (31|41 2 |3 4 5 4/3-5 &6~ R G RR 4/1 & fhsa i
- = - 4/1 ] ;7}“}";1}'\- 37;5 7 ~55 }F‘“-'Ji 4/8 ;E)[;,E i éf
8 9 (10711 ] 12 :
6T 47192 ¥ 38 3|
=+ 311471571617 1819 [4/17~18 g1 225
4 — 120 21 |22 23 (24 125 |26 |4/95 ppikipe-xEm
+ =127 1282930 |5/1] 2 | 3 |5/2 psikitm~ Ea VI REES G
=14 5] 6 T 1819 |10 |5/9 k2w~ £, 2 EHE
. , . ~ 1D/13 HEHAE P (m-rs .
2 7 A ;\ ) T r 3 ::: HE o N = f’¥—‘
+m | 111 13114 (15) 16| 17 5/16 95 k28 19~ 4 4% V4BARETEE
N , , 5/22 EATRMAR IR
- ; 8119]20] 21 2212 ? 5/ L4
+E 181920 3|24 /93 s e e 5/23 8 W2
1 : L |B/2T HE e B pe e &
2| 27 128 1291 3 . ” 5/29 5 W B & &
2512627 | 28129 30 | 31 |5)m0 ok g 5/29 7 F IRH & R
_. L |6/0 B E 4 BE g e 6/3~4 7 F & £
+ | 6/ 213 4 15 /
+ 671 6 6/6 FHEfEE S (1~ 6/4 A F # &
: , , ) 6/9 ®HE KB H R 6/13 & % giiy
AN 9 L1011 12113 ] 14 : T
T ) 6/10 % %8530 6/10 B % &
FH | 1511617 |18 [19] 20| 21
B =] 1 IR no |6/723 K FRIPH LR 6/24 ~ 25 3 K35
et 22 123124 |25 |2 28
T | 2415 1261 27 | 38 6/24 W & I 4 &
- — 199 |30 6/30 #k % X

T/1 B4 21




[rttE=) 113 L5 EF 2 LMHEGHE FEH
B AR AT f3x

DO i e

2 2718

3 |2/26  |plietir g A GerE A g [13:30~16:30

4 13/5 |ZE#HFHE LEBREE

O |3/12 1062 ki pp itk B % S 1Y PGSR ET

6 [3/19 |114 % % @ |2 & = CPR-AED #7 3 T HE T 52 YA
/P

T 13728 |snGs s s g ant PIRS S 67

§  |4/2 |REER

9 4/9

10 |4/16  |4F4Fsnse 22 AR (1% ) P %3 B

11 4/23 |BFEHFHFATHAE I 2k B

12 4/30 |REWH

13 |b/7

14 |5/14 |B#EEHER FAE X

15 5/2] |HFHRABABES Y FEH80nmY 7Y 22k B

16 |5/28

17T 674  |[BAR2H K

18 16/11

19 16718

20 |6/25 |(HARAEFEE

[mtr=1113 25K %

—ERERHEEXBRERAELERAE

PR FANL AENE
IBF FREAE > 300 F
RS FRGAE 300 F
=
PR 4 FEORE > 300F
B A FHAE 300 F
B 2 FECEAE > 300 F
T
2 4% FHAE 300 F




IBEFEZ MR EREREZEECLER —

-k

R & HEmE K

1142 A 10 B

B 7 Mk BEHERNEEE
B4 10 8% 30 4
B AS "2 2] BRAR "z %= 3|
, —FaHEmRE
2o At 2] ‘ ‘> > S ’ i L .‘ P j /}
Bk e | Y Y kst | wis ZHI/7 ?ﬂ
. AL
K&
M\ \.4%7 —F R R K |
~ “irﬁ: N E. 4 %’; = . sz / g o ’ = kg 4 . /o
7Rt ERE P44 % é FAEERAHMEG | R z,é %9@
K&
HEEXFEFH - ZFEHEARK K
CHEBHB K| AKE | )] bin A ARG | 1SR o
| s | R, |weewenn) wrn | gg g
& K&
WE %A S E SRR 3
R A E R | RBE ﬁ\%}@ RLRAEB AT | REAE };\)ﬁéﬁ
AR ELER R R K E&
T EAE K1 % BEBRHARE | E44% % ZB )%‘
pd {
I F 48 & EFF 773/ PR XN
A g 2H = :
A * R EREEA | THR %
12 26T % R AN | RS J jﬂi\
B X &
P R &
T AR B ER X, B b B f’;\) W1 /’i

*




